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B. : (1) Question No. 1 is compulsory.
(2) Solve any three out of the remaining five questions.
(3) Assume suitable data if required and state it clearl
(4) Use of Steam Table and Mollier diagram is pemw\n‘

1. Attempt any four out of the following

(a) State Kelvin-Plank statement and CJ
thermodynamics.

(b) Draw a neat diagram of Roots blo

(c) Show that energy is property of

(d) Draw a simple schematic dia,
represent this on T-S diagr

(e) Define dryness fraction,:
consumption. :

Steam enters a no;

the inlet to the turbine is at 100 bar and 500°C. If
, determine the pump work, turbine work, condenser

2e.cop ﬂifw"
w>-of aif-at 5 bar and 200°C expands isentropically until the pressure becomes
;‘then heated at constant pressure until the enthalpy increase during this
256 15'80 KJ. Calculate the work done in each process and the total work done.
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runs at 800 rpm. It operates on a Rres
swept volume. Assume NTP room

(e) Isothermal eﬁi\cfg{léy, :gn
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